T3 EFE4R7B=ZERESR

BEEZFOPITKE (BERXA) [2DOWT

(ZEREFEEHZERXENEECEBRER)

(1) ZhERERX (EE7 A/ HBHEEER 227,013 A H%EE 50.41%)

C 1 2 3 4 5 6 7 8

SEH 18, 988 15, 999 15, 669 14,978 13, 438 12,104 11, 628 9, 665
(2) MEHMMEZERX (FE7 A LBHEEEE 251,634 A HZEZ 46. 15%)

SEIR 1 2 3 4 5 6 7 8

BEH 22,005 21,089 16, 723 16, 361 14, 407 10, 496 7,912 5,170
(3) 8T - ZEEHEER (TEAANLBEEEH 119,528 A IRE=K 43. 46%)

SEIE 1 2 3 4 5

SEH 13,513.099 11, 305 9,215 8,812 | 8,296.899
(4) fiEMEZERX (FE4 AN LHEEE$ 158,350 A $%ZE3 48. 99%)

SEE 1 2 3 4 5 6

SEH 22,717 19, 601 12,765 7,370 7,174 6,518
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(6) BB - L2 EMBER (FE2 A LHHAEEEH 29, 643 A 1REZR 57.85%)

SEAE 1 2 3 4
BFEH 6, 653 6, 432 2,962 959

L Lk EE




(7) BPTEZER (EE1A/SBEEER16,170 A REZE 61.49%)

SRIE 1 2

~IIH=| ~|I

SEH 9, 906 3,857

(8) EEMEERX (FE2 A/ HBHEEERAS, 184 A RFEFR 49. 24%)

BEE 1 2 3

N\

SR 8, 864 8, 309 4,100

(9) FEMEZERX (FESALHEEEETS 922 A% ZEZ 52. 38%)
SEIE 1 2 3 4

TEH 13, 798 9,638 8, 060 6, 587

..|

(10) ZEMEZERX (FE2 A HBHEEERDS, 178 ARER 49.47%)

BEIE 1 2 3
BEH 12, 529 7,010 6, 330

?ﬁmlllﬁ 1 2 3
BEH 11,055 4 891 4 671

=ZIE 1 2 3
BEH 9,852 6, 705 5,657
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